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English Grade 8 - Error Recoginition Test 01 

 

Questions 

1.  He has moved to a new apartment and he is satisfied with it because it has many 

furnitures.   

A. has moved  

 

B. is  

 

C. with 

 

D. many furnitures 

 
 

2.  My father intends to buy a house which is large enough for six of us to live.  

A. to buy 

 

B. which  

 

C. large enough  

 

D. to live 

 
 

3.  Lots of people tell me that Tuan prefers classical music than pop music and he is even 

going to publish an album of his own. 

A. Lots of people  

 

B. than  

 

C. publish  

 

D. album of his own 
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4.  However scouting is mainly for boys, there are organizations similar to the BSA 

which girls can join.  

A. However 

 

B. mainly 

 

C. to  

 

D. which 

 
 

5.  Some learners even write each word and its use on a small piece of paper and stick it 

somewhere in their house in order remember words better 

 

A. even  

 

B. its use  

 

C. somewhere 

 

D. in order  

 
 

6.  The painting was hung in the hall was painted by a famous artist and was considered 

as a masterpiece.   

A. was hung  

 

B. by  

 

C. was considered  

 

D. as 

 
 

7.  Anne told me if I could play the violin and I answered I couldn’t.  

A. told  
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B. could  

 

C. the  

 

D. answered 

 
 

8.  Jane complained that the test he had done was too difficult that he couldn’t do it.  

 

A. complained that  

 

B. too 

 

C. couldn’t  

 

D. it 

 
 

9.  The increase in population has led to overcrowding in many cities and put a strain in 

schools and hospitals. 

A. in  

 

B. to  

 

C. overcrowding  

 

D. in  

 
 

10.  He said that he couldn’t carry the box because it wasn’t enough light. So he asked me 

to give him a hand.  

A. said that  

 

B. because 

 

C. enough light 
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D. to give  
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